EARAZROREIERT — 2 N—XBISY —F 2019598 16H (B) 4MBR##5H

m"fﬁ%Zﬁ KEEF E#S ‘ [x1z] # ‘ [eErm]  — | &4 (&) 14000 B
[A&4] 1 7% :5,000,000 @ 23 :2,000,000 ™ 33 :1,300,000 ™ 43 :750,000 5 7% :500,000 {
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
0 — N §=5) . —
2lelT>77 1727 o2 gﬁ)ﬁt% 1.(2_6).8 3-2 39.4| 83.5 | 4 (1151;2) A (TH)
LTI N B huhITFoEL ER
g5 > 4 2 | WEEH 1:26.8 8-7 38.9| 83.3 | 2 446 | RHET (RR)
2011|7437 71% A51.0 (7E) (+g) | EEEM
RN=VIF14 BiIN—TL3IT— ¥ T —L
P, 4 o2 | EoEE 1:27.4 1-12 [38.1|77.9 | 5 498 | HHEBEL (FH)
355 |F11FY 54.0 3 1/2) () | ANAAIET
LA A T ALY B2 LR HREMFREH /77— L
 pe—p 8 MAEATE : - RES (EX)
4lglio| ¥I> KTV L o2 G (12217/28) 4-4 40.1| 755 | 6 (ﬂi) REo
R:xXF B:YYLRUT—F ENBE e
LA . 4t 2 | AEEN 1:27.9 10-10 [ 39.2| 74.2 | 10 | 474 |ERE#hSE (EH)
sy 3| 7NTHEAR 54.0 (1/2) © | W TuTerNT
L4 a B:I57000R nEE e
= g 2 | B 1:28.1 2-2 40.8 | 73. 464 | AE—R (ER)
6|5/6|7TITLT—IE " 54.0 ( 18/4> e R (+?2) B
b ¥I7—IK BE-FIXM)y 7T E RS
e .t JI/ERE :28. - . ) HEEFE (FXR)
718l11| &/ X b7 ' 2 54.0 1(/72?55 9 WIS 9 ‘23? ms?.g)\
R:FHYTTIIRE B:FU—TOvHA EEHI4E

. o2 | VK 1:28.4 1-1 4“3 7| 3 450 |PAKRE (FER)
8 4 FTLTHRR 54.0 (1 1/4) *+2) EZL2IN

RiboHFra—U— B:FLTXRZ T BHUS
N 6 7’|)ngf_7“>:‘:r> ) o2 | BB (172;374) 44 |a08| 712 | 12 (430) gg;— (FE®)
IA2>T59va Bieds B Eh
10 8 #\7—‘/)1/}\ 2 ﬁl{%ﬁ (11:2:/.47) 11-11 39.5| 67.6 | 11 (i?:) gfﬁﬁéii)
R:Y=Z28—3IZ248— B:IAILYF RN
@ 71 L
) 51.9-39.7
NO> 24 L | 12.4-10.9-11.6-12.2-12.4-13.1-14.2
@ 11— F—EBIBLL
| 2=3zr=
2 =zr=
d=zr= 4,6,9(2,7,12,10)1-11,3-(5,8)
43 —F— (x4,6,9)-(7,12,10) (2,1)-11-3,8,5
0 ILRE
B OB 9 90 | [ 71 K 1-9 700/ & 1-7 1,600MH & 1-5-9 5,060
7 B 9 260 5=9 1,100M B = 1-9 1,710M JEH 9-1-5 26,770
1 1604 1-5 670 | | B 9-1 3,420/
5 300H

ABICOVWTRDTEEERROODE. TR LIV,



